SAMPLE PAPER 16 / MOST IMPORTANT SCIENCE QUESTIONS

Q1. The acceleration due to gravity at the equator
YU AT R TFATHYUT & HROT @07

A. s less than that at the poles /¢af R 30X &1 &

B. is greater than that at the poles /gal W ITA I8

C. is equal to that at the poles /¢dl ™R TI& TR &

D. does not depend on the earth's centripetal acceleration /gedt & UG @ROT R FR 7 F=ar &
The force of attraction exerted by the earth on a body is called gravitational pull or gravity.
We know that when a force acts on a body, it produces acceleration. Therefore, a body under the effect of
gravitational pull must accelerate.
The acceleration produced in the motion of a body under the effect of gravity is called acceleration due to
gravity, it is denoted by g.
ged} gRT fadt fiis R emIT T SNENUT S &Y RaleyuT RATd AT [FaaTdy T ST ST 2|
B A € {3 519 B 9t Y s R o T €, Y 98 @RUT IcUa T 8| ST, ey ur Raang & g & U
IRR & doft & ST =18 |
THaTHyUT & yuTg # st s &Y f B Seuel w@RoT Y [HeaTd T 3 HRUT w@RUT gl ST 8, ST g gRT ST Srar 21

Q2. Sexual reproduction in Algae that takes place through fusion of two similar size gametes is called?
daret & Sifies S ST S T MHR & D! & Toad A 8IdT 8, PEeATar 8?2

A. Zoospores /STRGRT

B. Anisogamous /3fHET

C. lsogamous /3mEaNtag

D. Oogamous /3THA
Anisogamy, also known as heterogamy, is the form of sexual reproduction which involves the union or

fusion of two gametes, which differ in size and/or form.
FfEN, S8 fAwraMedar & a0 & o ST SITaT €, W9 U &1 ¥ @ S & graet o e a1 derge e BT g,
St 3R 3R / a1 ¥ F e B &

Q3. Animals in which the cells are arranged in three embryonic layers are called
Sig o ey i yofty wal § oafdd gt 8, Feamd &

A. Diploblastic /fSttscrafees

B. Ectoderm /uaersd

C. Tripoblastic /PdTseTiRes

D. Endoderm /qugtsH
It is in the Triploblastic form of animals that the embryo is arranged in a three-layered structure.
These layers are ectoderm, mesoderm, and endoderm.
Most multicellular animals are triploblastic except sponges and coelenterates.
Tg THRT & feuciisdriResd ¥7 # & fb Yur &1 dfi9-wRd Ta=m & syafedd favar sirar 81
T W TICISH, ATsH 3R wEisH £
T 3R BT B BISIR UG TEHHADTT TR feueieciesd g &l
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Archenteron,
Ectoderm
esoderm
Blastopore.
Diploblastic PO riploblastic
Gastrula Gastrula

Q4. An image formed by a concave mirror on a screen is called ?
AT GYUT GRT RS W & Tel TTASw BT T Bt 8 ?
Virtual image /3mHrt ©fd
Real image /ar<faes sfd
Inverted image /3eict Bid
D. Erect image /st ©fd
A concave mirror forms a real image on the screen when the distance between object and mirror is greater

n w >

than the focal length. It forms a virtual image when the distance between the object and mirror is less than
the focal length.

Jade SUUT W W IR ufafera Farar @ 519 axg 3k gdor & i i gft Biew g I 31fds gt 81 78 T smurd
BT §TET & 99 a¥q 3R U & 9 H I B dd1s ¥ FH gl 8l

Q5. The process of depositing a layer of any desired metal on another material by means of electricity is
called
fAga & ararm J sl oy verd W 9ifed urg Y wRa ST TR B gfehar FEer &

A. Electroplating /gedgiwfem

B. Galvanisation /ftea-auor

C. Rusting /ST &1

D. Crystallisation /fe¥eaiaur
The process of depositing a layer of any desired metal on another material by means of electricity is called
electroplating. Electroplating has mutiple applications like protection for scratches and corrosion, etc.
faera grr faeft 3 et w ot aifed arg H wa s A H uferar & fegd T FEd T sadgeT § Wig 3R
ST 31fe & fAw qRem S &8 srguanT 8|

Qs. Asterias (Star fish), Echinus (Sea urchin), Antedon (Sea Lily) are all examples of which Phylum?
TR (R e, sfma (@ gRfae), st (H fad) ot fow weeaw & e €2
Echinodermata /TehI-TsIATeT
Annelida /TafasT
Platyhelminthes /9g&@
D. Arthropoda /3mmyfarsT
An echinoderm is any member of the phylum Echinodermata of marine animals.

nw >

The adults are recognizable by their radial symmetry, and include starfish, brittle stars, sea urchins, sand
dollars, and sea cucumbers, as well as the sea lilies or "stone lilies".

TS R I STHER & B sRAsHer &1 H1E ot weaw 2

TUTD! T 39 ST THFTAT gRT U ST el &, 3R 390 TR, R AR, Tt s, Yd sfer, ik Iger Wi,
Ty € Ay Tl fael a7 "W fae enfae €

Q7. The impression of an image persists on the retina for about of a second.

TS BIY T BT 9T T T & fau Iear R @ &

A. 1/10th
B. 1/8th
C. 1/16 th
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D. 1/5th

at the point of incidence and the reflected ray all lie in the same plane.

3R wrafaa fvor Tt ve & aor & 21 2

A. surface /4dg

B. tangent /dqefar

C. normal /amAT™

D. angle of reflection /TRTad= ST
The angle of incidence is the angle between a ray incident on a surface and the line perpendicular to the
surface at the point of incidence, called the normal.

STTAT HYT U g W Mafad faRor 3R 3 fig W Tdg & oiead Ra1 & i &1 BT 8, fO 31ficia et Srar 1

A. Circuit /afée

B. Element /dd

C. Filament /ftrerdie

D. Cells /Ad
The coil of wire in an electric room heater or electric cooking heater is called a metal heating element.
Most heating elements use nichrome 80/20 (80% nickel, 20% chromium)wire.
Nichrome 80/20 is an ideal material for heating elements owing to its high resistance and formation of an
adherent layer of chromium oxide when heated for the first time.
TAfITSD TH 1R AT Sfdesd ST Elex § IR & dR P YT a7 ded H&T AT 21
SrfareieT €T ded ATSHIH 80/20 (80% FRdhdT, 20% HIfFTH) TR HT ITTNT IR &l
A 80/20 3o I=7 UfARTY 3R TEet IR TH dRA W BT 31faaTes $i U raTE WA & 6 & HRUT EIfT dadl &
foie ue armast |l 2

Q10. According to the Second Law of Motion, for a given force, acceleration is inversely proportional to the
____ of an object.
A & g oy & R, faft Ry v s & faw, aror vl aeg & ____ & PHTIUTA &l 21

A. density /a9@

B. volume /3maad

C. force /¥aT

D. mass /gagATT
Newton derived the laws of motion. According to the second law of motion for a given force, the
acceleration of the object is inversely proportional to the mass of the object. Therefore, more the mass less
is the acceleration and vice versa.
e 7 T & oy e fev| foaet faw v aa & v 1fd & gk a0 & R, 3] & &RV ag & godd = &
YHHTIUTAY BT &1 38T, 31fAe goudT &1 <RoT ? 3R g0d Rudd|

o Siqait & R T[eT SuiRAT BT 3 __________ PET AT &
A. Coelomates /®ig@HeH
B. Wild /SiTett

C. Pseudocoelomates /HEIHIge e
D. Acoelomates /UBI@HEH

The animals in which the body cavity is absent are known as Acoelomates.
Example - flatworms and tapeworms,
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Acoelomates lack a fluid-filled cavity between the body wall and digestive tract. They exhibit bilateral
symmetry.

o Sigait & 2R a7 Sgufd &1 8, 3= USIa e TEd &l

ITERVT - Tetead 3R uarH,

THIAHSH H eRR & SaR 3R I &7 & o1 ga F v 761 6 Sl gl 81 F fgueha wwedar vafefa axa &

Q12. Why radiologists do not take direct X-ray photographs of intestine?
YfeTidifore 37id & et Tara-X aai a9l T8 @ 82

A. Intestines are affected by direct exposure to X-rays /Taq-Y & U1 ¥ud § 319 F 31id gurfad gt §

B. X-rays can not cross intestine /UaRT-X 3id $I TR T& X Thd

C. X-rays are not able to capture clear picture /Tad-Y Tt dR o4 & T T&1 §

D. Even short exposure of X-rays causes cancer in intestine /Taq-X & &1 ¥0d ¥ o oid § SR ear &
As the intestine is a soft tissue structure, it is not usually seen on a plain X-ray. By using barium to coat the
inner lining of this area the Radiologist can see the bowel clearly on the X-ray screen, and can watch the
way it functions during this study. A small lubricated plastic tube will be inserted through your nostril or
mouth and down into your stomach by the Doctor or Nurse. This can be a little uncomfortable, but a
combination of anaesthetic jelly and spray minimizes the discomfort.
Hfs 31id T RA el TET &, TE MAAR | T JTe UaRT-Y | e AT AT &1 T &7 ST SRS WA BT FIe o &
fore Ifvaw &7 ITahT FRd YIRS Vad-¥ B W 3777 BT T I U &4 THT 8, 3R 39 T & SR 80P S
TR T AP BT A THdT g STaex IT Y gRT TS 7Y TT HE & Treny F 3R I 31muds Ue & va Biet At Reare areft
TRed ogd STT S| T ST STTEST &1 AHAT &, Afdd TASATERT Siedt 3R T &7 TS SIfAeT &Y FH T 2|

Q13. Which of the following is most important for growth of children upto the age of 14?
14 T §Y Mg a9 S T & e & v Fefafea & F $i9 s veagef &2

A. Proteins /WIEH

B. Vitamins /faerfaq

C. Fats /qar

D. Milk /&
protein are important for the growth of children upto the age of 14. This is because proteins helps to build,
maintains and repair body tissue during the growth process of the adolescents. Children need to eat two to
three servings of protein-rich food each day. Milk and other dairy products also are good protein sources
for children.
14 9¥ $F 3 7% S Td1 & AP & fow W Tyl 81 TaT safav & Fifd Wieh iRt & gie ufshar & R iR
F Fdat & fFmfor, Rawara 3R wwd § Aeg w1 ¢ F=1 & ufafeT & & i affn AT goh Wis wRar T1fu) gu ek
317 308 e off I & foiw o Tid | 2

Qu4. Ribozymes are Enzymes made of -

ASEISTSH fHad 99 TH & § -
A. Deoxyribonucleic Acid /fS3tTeRIRTgagfdws v
B. Hydrochloric Acid /gggiawiie TS
C. Amino Acid /ufa=t ufas

D. Ribonucleic Acid /& gawiie UfiE
Ribonucleic Acid: Commonly Known as RNA.
It is an important biological macromolecule that is present in all biological cells.
It is principally involved in the synthesis of proteins, carrying the messenger instructions from DNA, which
itself contains the genetic instructions required for the development and maintenance of life.
The nucleic acid of RNA is ribose.
Nucleotides of RNA include adenine (A), guanine (G), cytosine (C), and Uracil (U).

SHIPRA CHAUHAN



SAMPLE PAPER 16 / MOST IMPORTANT SCIENCE QUESTIONS

RNA is typically single-stranded in form.

RNA molecules can function as ribozymes during translation (mRNA to protein).

TSI TAS: SMAAR R STRTAV & ¥G F ST ST

g U HEaqul SAfdes AR & Sit T e Hfdrepran & wigpe @t 21

Tg TR T A W & JHT1 F A €T €, Sheav J Teerares it & & o 8, oo @y Shae & faerg sk
RRAT & AU rmaeas e R a1 &

RNA &7 gfaeies 37T gaTST el 81

JRUAU & YfFerarerssd # A (), @i (Sf), arseifae (3f), stk 428w (g) enfie &1

SIRTAT STHAR R THA-TH8 F7 F g 2

JTRUAY 370] 3ATE & R ASEIISH & T # B X Tobd & (THIRYAT A WEF) |

Q15. Sodium is kept in which of the following liquid ?
feam Frafafe 8 @ foa @ & war S g2
A. Milk /g
B. Water /urit
C. Kerosene /ffedt aa
D. Coconut Oil /ATRT HT et
Sodium cannot be kept in the open air because it is a very reactive metal.
If it is kept in the open air, it will react with the moisture present in the air and result in the formation of
sodium hydroxide (exothermic reaction)
For this reason, it is kept in kerosene to prevent contact with oxygen and moisture.
T Y Geft ga1 H TET AT AT T T1{d Tg T 95d & ufafeaneiier arq 21
Tfe 38 Wil gaT & a1 S |, @Y Tg gar # Hige T & Iy wfafhar s ik uRumasy wiftay eegiaass
(i wfafaam) ot fmfor g
T PRUT T, TH TR 3R T & 9SG FF A+ & forw g & et & @1 o g

Qu1e. Saliva contains an enzyme that acts upon which of the following nutrients ?
@R # U UaTsH gar § St Fafafad § & i tive 9@ w o awar 272

A. Starches /T

B. Proteins /A&

C. Fats /qar

D. Minerals /@S gared
Saliva contains the enzyme amylase, also called ptyalin, which is capable of breaking down starch into
simpler sugars such as maltose and dextrin that can be further broken down in the small intestine.
R T YSITgH THTSAST 81T &, Tod arsforT «ff &1 SraT 8, St e &1 ATeeist 3R SaAfe Sif aRet 2T  algay # Hem 8
S BT a1id # ik afde drsT A1 wpa 21

Q17. Which among the following elements increases the absorption of water and calcium in plants ?
RafafRd & @ o7 a1 da del § urt 3k $TREw & saeivor &1 9em@r 8?
A. Manganese /HTTr
B. Boron /aRTq
C. Copper /disT
D. Molybdenum /Hifeissad
Boron increases the absorption of water and calcium in the plants. It helps in the metabolic activities in
plants.
Boron is necessary in order for sugar to move through protoplasmic membranes.
IRTT atdl & art 3iR SfeRram & sraeivor &1 grdr 8| ¥g el # Targay nfafafet § wag e gl
I B WeTTfons fEiew! & AT I RMIART 3 & fae IR smaws 81
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Q18. Common impurities present in bauxite are

SiaaTge B Hive Iy Siyyfaat &
A. CuO
B. ZnS
C. Fe,0Os
D. None

Bauxite has a number of impurities in it including iron oxides(hematite and goethite), Fe203 the sand silicon
dioxide SiO2 the clay mineral Kaolinite and a small amount of TiO2 known as Anatase.
TiTse § 3R TTaTss (FReTse 3k MuYtge), Fe203 Y fAfae srgarierss SiO2 o iR sreiiarse 3k T
& ¥0 & J1d TiO2 6t T B AT Tfed o8 gt B

Q19. Which of the following element is electronegative?

fufafa 8 3 &7 a1 da fgdio 22
A.  Sodium/&ifsaH
B. Oxygen/3fiedIaH
C. Magnesium/fTifraw

D. Calcium/fRmag
Electronegativity is the property of an element to attract electrons towards itself.
Among the given elements oxygen is more electronegative.
It has 6 electrons in its outermost shell hence it needs 2 electrons to complete its octet so it will accept 2
electrons.
SAGE NI U ded Sl AU & ST goiac =l BT ST 3R DN Hel 2
few e aet # sifefier ifdes faga momars 21
TS TS T80 P F 6 TidelT 81a & STAT T 31T 3redh [T A & T 2 Sarei- &Y IaLaHhar aldt & gafa ug
2 SAiag I & WIGR ST

Q20. Which of the following is TRUE about the process of evaporation?

arefiaur $F ufhar & TR # Fafafied § 3 s @d €2

It does not depend upon humidity level./ Tg Tt & TR W AR T et 21

It increases with increase in surface area./ 7€ Idg &7 # 3fg & TTUr dgar ¢ |

It decreases with increase in wind speed./ Tg 9t & TR W AR 7€ F=ar 81
D. It decreases with increase in temperature./ 7§ aT9a= # gfg & ATy TedT ¢ |

Evaporation is the process by which a liquid turns into a gas.

n w >

Evaporation is an essential part of the water cycle.

In the Water cycle, water moves from the liquid state back into the water cycle as atmospheric water
vapour.

Evaporation depends on the surface area.

It increases with an increase in surface area.

arsfieuT a ufehar & foras gRT U @t 319  9aot SiTelm &1

ATfiEROT STl < BT TS e R 2

e °ep |, ST ATgHSH T STofaTsT & 9§ gF 31T J a10d Siel 96 § TeAT SITelT 2|

arsdieur Aefe & R ik Far gl

Tg Idg &7 # gfg & Ty gedT 2l
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